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def main():
n=int(input('enter number of permutations (3 or more): '))

permutations=[[1,2],[2,1]] # The base combo of n=2

for length in range(3,n+1): # from 3 up
old_len=len(permutations[0]) # Length of existing chain
new_len=old_len+1 # Length of new chain

" permutations will hold the entire new set of combos and b holds"
" each sequence in turn (out of the entire set) "
new_permutations = []
for s in range(len(permutations)):
b=[0]*length
for j in range(new_len):
b[j]=length
for k in range(old_len):
for k1 in range(new_len):
if b[k1]==0:
b[k1]=permutations[s][k]
break
new_permutations = new_permutations + [b]
b=[0]*length #init b to zeroes so only the one in turn
#is the new number added
count_p=0
if length == n:
for row in new_permutations:
print(row)
count_p +=1
print(‘above combinations are: ', count_p)
permutations=new_permutations
print(permutations)
if _name__=='__main__"
main()



